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Unit 9.12b Test Review WS #2 - Statistics

’ Directions: Draw and label normal distribution curves, then answer the questions.

1. The weights of the 50 football players are a) What percent of the players weigh between
normally distibuted with a mean of 178 pounds 178 Ibs and 194 lbs?
iation of 8 pounds. 9
and a standard deviatio P L*? 5 A

b) Whatis the probability that a player weighs af
most 170 Ibs?

Pt Lrm0) = 1%

c) Whatis the probability that a player weighs
less than 162 Ibs or greater than 194 lbs?

25%+25%=5%

d) How many players weight between 170 b,
and 186 1bs? / 50(0.6%

EFq A 50 f/ajz»u 34/,}‘,1ﬂ

1]

2. Identify the population and the sample:

a) A survey of 1353 American households found that 18% of the households own a computer.
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b) A recent survey of 2625 elementary school children found t?at 28%/of the children could be
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¢) The average weight of every sixth‘;‘;rson entering the mall within 3 hoyr period was 146 Ib.
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3. Determine whether the numerical value is a parameter or a statistics (and explain):

’

a) A recent survey by the alumni of a major university indicated that the average salary of 10,000 of its
300,000 graduates was 125,000.
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b) The average salary of all assembly-line employees at a certain car manufacturer is $33,0
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¢) The average late fee for 360 credit card holders was found to be $56.75.
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4. For the studies described, identify the population, sample, population parameters, and sample statistics:

a) In a USA Today Internet poll, readers resp Ldeg\voluntzr!ly t@ the Eue,sti n&)gﬁu f}cjnirme at least one
[
caffeinated beverage every day?” i0
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'b) Astronomers typically determme the distance to galaxy (a galaxy is a huge collection of billions of stars) by
measuring the distances to just a few stars within it and taking the mean (average) of these distance

measurem nts.
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5) The length of a certain fish species is nérmally
distributed with a mean of 15 em. If a fishn [ a
this species is 188anwntha,.-sooreof1.9 &= 3.8
what is the standard deviation? = ,' ‘i
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Use for questions 39-42: The shoe sizes of the 36 students in Samantha’s PE class are normally
distributed with a mean of 8.5 and a standard deviation of 1.5.

39. What percent of the students have a shoe size | 40. What is the probability that a student will have
between 7 and 11? P(ﬂé;{t | ') a maximum shoe size of 9.5?

7= T =-1 3 01587 0%250\55; 2 ﬁs 8’5-0_6; 5024 F(
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41 Approximately how many students wear at least | 42. Approximately how many students wear a shoe

a size 6? size betweel 8 and 10?
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= 0.§43-0.3707 = 0. 4706
o.u706(36) = 16.7
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